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The ﬁgunes in the rzght-hand margm mdzcate marks

Gaudldatca are nequired to gtve thetr qntwem in thetr ‘
- own words as far as pracncable o

‘‘‘‘‘

/7 _tratq the qn.rwers wberever ngcessaty

1 (a) Why ‘analysis of algo'r’ithm is- re'iimred ?
Descnbe different deslgn approch¢s for S
develqpmgnlgomhms

(b) E’xpram ﬁlfferent types of asymptotnc
. notatwns used in analysxs of algorithms
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(¢) Show the complexity of the recurrence

' relation shown below : o
A a 5 ifn=1
T(n)= |

2T(n/2)+a,, otherwise
o (1+2)+4 +3

2. (a) Explam d1v1de and conquer strategy in detail.
' ‘Write down the merge sort algorithm usmg
divide angl conquer strategy.

~ (b) Explain and derive the time complexity of |
‘quicksort. ; (4+6)+5 ’

3. (a) Explain the dynamic programming stratzy.
~ Describe the features an optimization
problem should have for dynamic progra-

mming. P '

4

(b) What is matrix chain multiplication

problem ? Write down the algorithm to

solve matrix chain multiplication problem

using dynamlc programming strategy.
2+3)+2+8)
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4. (n) Write an algonthm to solve n—Queens

poblemusmgbacktmckmgtechmque Find |
rtstnnc comp!exnty :

(b) Deﬁne bmch-and-bound tequue
_ Mention the steps to solve a problem using
- btmch—md-botmd. (7+3)+(2+3)

K (a) Wﬂmwwmtpmblcm?‘ |
- How it is different from dynamic pregra-
’ mmmg? Write an algorithm to solve
| fuct:oml knapsack problenr using My.
(b) What is mifiimum spanning tree ? Wnte -
_ the Prim's algorithm to find the minimum
spanning trecof agraph.  2+2+5)+(1+5)
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